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Dz. nr 18/4, obr. 1020

Dz. nr 22, obr. 1020

Dz. nr 18/4, obr. 1020
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Dz. nr 1, obr. 1020

Dz. nr 1, obr. 1026

Dz. nr 129/6, obr. 1020

31,14 m

L=

[=218,92 m

13,68 m

=

1,45 m

=

14,61 m

L=

L=15,33 m

23,78 m

L=

20,48 m

L=

ww gL up
“Uj0Y DMNSDZ

Kmoysiup/obaiismoypizpaiy
i oIn DlUpzap

R4DIZp

pounyy ¥ ¥X

pzol

pzol

pzolp

#Rpoizp
"upJ

[aptsbp In
DlUpzap

ww oo} up
“Uj0Y DMNSDZ

wu g up
*U0Y DMNSDZ

ww 00} up
‘Uf0Y DMNSDZ

ww oG} up
“Ujoy DMNSDZ

opoIZp
DIILDIG

Www g5} up
“UjoY DMNSDZ

ww oG} up
“Uj0Y DMNSDZ

o40Izp
DIIUD.I

)

—

T ~
X L O
S
_C £51 s N
E= S92 |¢
‘abv (e} o >~ o
£ N S
o o.L o' 2
o) Q9 S5 =z =
> m Wd
- D m. o
" 5
< = N ¥ [%2]
S . NE .
;2 °o S
3 © z 0 5
3 T T =
) S 3~ 23 g
oLl 5o s S
5| se| 2 2 |28 s
= 0 5= = SO | x s
5| 28] 8% | 5 |T8/E. | £
X =
S NG| 8N o (28|23 =
° — = N ) 33|88 =
< LN ” o |sXNPvL =2
Xol Zo| & T |8%les
% AKn © o 3 o |oN|Sw| =
Q2 _ S = 25|28 <
$BE x| o8 | o [FHEY 2
o = o W = .a|.v — ~N W ~N W
232 S| 3% | 5 |EEEE s
Toe3s| Co| T C |57|s52| B
w< .| S| 33x| & |[Eg|ee| &
Q= g % o = C
xls| Aan| COD
a o= 0L 2N ol =
< o =5|<.-g¢ < o
78|l ol =2 .. | B 2|«
S < n_U x N — oZ x = N ~N
Tall<<|>z = W x g —
SO~ a=|Co=>23 =3 u = ..
% IR|EZ_|1ES Co| 2 gl | £
ZN3S|8m 2D & a 7] 3
«©
05100M 381 Z ‘9bjod "Bz ,06/00L ON[086__ [8¢9¢ [ ¢S} 24 RZJW -T
7 .Z0/00MNH.SR/001 NT[T86C  [828C  [#S) ~ 6179 =
= o S 7 2
00¢aox
@ J
- 'B2.08/001 1M (686  [878C 19 3 \ ol | =
(Topypojdsye z ‘zobpim op) OGLAOM s -
amoxz | ¥8%6¢  [#¥8C | 0¥} ol g |88
o (GHOM o 9 3 @
(Auukzoaiu) u—OGyqom Dl ==
0 [ 78" ; g I W=
$'97="074 ‘0019 Eo_vosoug:_sgm%mom 7860 e o 4/R0u I_ % m.vu_b. In/_u
== °z.001/001 L[€86C  [¥€8C  [6¥1 N3 (e =
£
e B E g
a | 8 «
5 =
) ¥5'97="02Y ‘08¢ wapomorid z gSﬁfan___m_& = | ﬂ
(‘zpou 70dd muoiphy Zobipod) Bz 08/001 'L{786C  [¥€8C |8l IS 89°6¢¢ =
>
4 o ]
GLE'61CM i
I |
(Auuzoeiu) u—QNe by
'BZ .06/001 1 [966C  [¥58C [T} - W~ =
192 .06/001 Uy 10| 0008|0992 | o'l N ywmzl
65°87="07 ‘068 Wepomdz.d z aezobjod foig IS S o=
'z 08/001 'L[£0DE 65°8C il % clee =
Auukzoelu (u-QOgmo) Azolumoydala jouny %
o~
S
_ ogib >
>=§Nuo_c~ u—ub .ﬁ
C Gh8T=074 ‘59 WA sougz_._..z brod foig m
(£/0¢ u "zp op “pzid) Moz + (G/00} pwisqQ (1108 Svec 991 [TV} =
(opypojdsye z “zobjim op) ppLqom
¢roe
(Ruuzoalu) Ggqom 066
8
=
£
&
LY'6C =
o~
1l
—
2 £ \mw
gln 3
2 i £0'97="07y '0}ly wapomszid z aazobjod foig = N~
g - . . Pz00l/00L 'L{8¥6C  [€08C  [Gvl S [ =
£& 18°L,¢="0'zy (ilopypojdsys z ‘zobjkm op) gOlom < -
E S ‘= 3
m M 66'20="02y ‘060 waponszid z aazablod foig |m ©
B Bz 08/001 'L{6v6C  [667C [0S S 0512l =
S 3 2
N N
sle &
e} g =
i 4 ch 2
3 = <= -
N
£
£
) 68'/2="02y '0g¢ wapomazid z ajuazabjod foigy S 'e}
(‘zpou '70dd muoipky zobipod) ez 08/001 'L 1767 68°LC |G —  [l9%G0L =
5 =
== S, hd -~
68'/2="07Y ‘066 Wapomazid a_ssaosw .:u M ¢
7 08/001 'L{¥€6C  [S81C  [6¥1 0566 =
GC'6C
¥
5
=
G6'8¢
$6'8¢ R
&S
) = ™
Bz (0| up aMoni-omoin 3zobjz /887 [6€LC |8l = 3244 =
~>
~ 3
~N| £ ©
) 9g"/g="0'7y ‘0ge wepomard z aezabjod foig N2 o~
(‘zpou zod'd muoiphy Zobjpod) 18z 08/001 °L {1887 €L |Gl [V =
h_
£
} £ =
B2.06/001 M [S68C 1510 191 S [l =
aNe - s
: . (Aukzaau) gz1qub . . i N = I = -
o2 .0£/00} M T I ——— 68'8C [8¢LC |91 = A4 S W .@.
Tz 00l/061 L 788 [T SS1 000
(Fopypojdsye z “zobiAk op) G|qOM 5
0gup Auwaizpod Zod'd yoJAH[G/8T  TIT'LT 51 e _E zog [ :4a_ = o
C gILE=07y ‘0gle wepomerid z aezabjod foig N LD | 209,y — o .e.
(‘zpod 70dd munipky Zobipod) 7 08/0G1 L €£8C  8I'LT o'l — 000 =
2
001+
0010om 381 Z “29bjod "Bz .72/001 MM [SIRE | ¥ILL 151 IS 1971 ran
o
=
< 00800
N%w b=t
o2 e =
1S3
<~ 05200 re
(opypojdsys z “Zobim ouwg Gl oM N o
" [V1g=07Y ‘05le wepomszid Z 3 Nmazg Toig o Te) .6,
Pz 001/06l L €8 LILT 96l 000 =
g
001:1
(Ruufzoeu) u—ogqub o
0GIQom )8! Z “zobjod "oz 11/0GL O [0682  [¥€1¢  [9S1 = B6S 2] oo~
Pz .1I/0GL M 068  [€SLC |G S 8085 =
: >
06'8¢ e} .
(T15="974 ‘00l wapowdzid z aazabjod {oig ~
Pz 001/06 L[T88C [l [SS1 GC6Y =
- . (N
(foojpojdse z “zobjkm op) ogh -
S
88°'GZ="P'ZY '0GC0O% AR
- 8I'[7="07y ‘08¢ wapomazd z auazobjod foiq
(zpod ‘z0d'd muniphy zobipod) ez 08/05) L[ ¢/gz ez (GGl £ |
L1'£7="97y '001g wapomazd Z aluezobjod foid 2 S 5%
o7 00l/06l T[€L8C [T WGl o | 5 =
(Tomypojdsye z “zobpim op) OGLAOM i 3 <
BZ /061 M [1£82 V4 [ I N e
B2 /061 M [1L°82 [V [ K [Lee =
£
£
e
)
£9'8C =]
g
= 002qoy | £7'8¢
2 /051 m N ~
- - : ~ —
5 0=024 ‘Oig ulpowed 2 owmmd g |V | BT |1 | ar g = %
0G1Qom ")si z zobjod o7 11/0GL M [058Z  [€69C |G} 000 =
£
-
e
e
o
<
o
2 ~—
£ | — L
> | E ;=
o () — = ) =1* =
3 = E | = | 2| =] — st 2
o= <C =% = = £ IS 58 S
= = () o > s S —
. x| =2 s z | 3 B | = SE 2
00k Ll |28 =& AE =
=g - | S|z | =2 | =19 |5 S
) = = = - S 2 = =
~lE S = o I = 2 S O
olE | g 2|83 |5l
o




